— R R A Bk

= H IR FEk (KR) 12m75 mH NET V) YRR 94F (1997)
I R gk (KH) 12m30 FRIE WA (R 1L ERE) ERE 134F (2001)
SELER (GR) 12m29 Bl EE EKR) AR 44 GETLED 8H11H 15:20 ¥ B
| s - 3@ | b7 8 . ]
Nafsz | BNE | ForT - K44 iG] 1EE | 2EH | 3EIE ~ab | s 4[51H | 5EIH | 6BIH | Foék B
11m39 | 11m49 | 11m66 11m27 | 11m39 | 11m47 | 11m66
1 18] 1601|3H BEHE(QR) BB +0.5 | +1.0 | +2.3 -0.3 ] -0.6 | -0.1] +2.3 *F2
11m26 | 11m30 | 11m57 11m46 | 11m49 | 11m52 | 11m57
2 17] 1141 LsgAE (1) HLTE -0.1] +0.2 | +0.2 +0.5 | +0.3 | +0.2 | +0.2
11m24 | 11m17 | 11m42 X | 11m15 | 11m52 | 11m52
3 19] 15935  FEF(2) AR +0.5 | +0.1 | 0.0 +0.5 | +0.2 | +0.2
X x| 11m09 x| 1om83| x [ 11mo9
4 1] 4471 EF& Q) SR H G E -0.5 0.0 -0.5
x| 1oms0| % 10m63 | 10m83 | 10m92 | 10m92
5 16]  858|=E  AH(1) FABRPE 5 +0. 9 -1.2 | +0.8 | -0.6 | -0.6
X | 10m59 | 10m55 toms5 [ % X | 10m59
6 14| 6661 [~ Z5H) (4) EEREK -0.4 | +1.3 -0.7 -0.4
X | 1omas| % 1om48 [ 1om22] x| 1om48
7 13| 1596 mAT 3 (2) BEAE S -1.6 0.0 | 0.7 0.0
x| 1om25| X% 10m40| X x| 10m40
8 10 4400l BHFE (2) SR H G E 0.0 +0. 6 +0. 6
9m97 | 9m58 | 10mll 10m11
9 8]  837|HH  &F(2) FABR +0.6 | +0.8 | 0.8 -0.8
om6 | 9m97 [ X 9m97
10 9l  396|Ad WLE (1) FIE L H & +0.6 | +1.2 +1.2
omd6 | X [ 9m59 9m59
11 4] 1166|fEiE A (2) HHE -0.4 +0. 3 +0. 3
9m46 | 9m54 | 9m46 9m54
12 71 841D JEA (1) FABR -0.9] +0.7 | -1.0 +0. 7
X X X
1| 1ol |gEmr AL [HsE NM
X X X
3| 399lgk EHEQ) FiA L& il
X X X
5| so4|gk @ |gthE NM
2] 6698[i I (3) REAEK DNS
6| 10935  MEfE (D HEE DNS
12| 5839 B - SPN DNS
15 428| B0t 3EQ) FIR L H DNS

JLI DNS: 15 NM:ERER7EL *F2:2E B AN BRRS




